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Math 70 * | Exponential Equations

—_ 1) How long does it take an investment for $2000 to double if it is invested at 5% interest compounded
quarterly? Round to the nearest tenth of a year.
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2) Suppose that you invest $1500 at an annual rate of 8% compounded monthly.
a. Make a table giving the value of the investment at the end of each year for the next 14 years.
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3) The formula P =14.7¢ 021 gives the average atmospheric pressure P, in pounds per square inch, at an
altitude x, in miles above sea level. Use this formula to find the elevation of a Delta jet if the atmospheric
pressure outside the jet is 7.5 pounds per square inch. Round to the nearest tenth.
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- 4) In 72010, the population of Illinois was approximately 12,830,000 and increasing by relative growth rate

0.5% annually. Assume that the population y continues to increase according to y = y,e* , where k is the

annual relative growth rate and y, is the initial population. Predict how many years after which the
population will be 13,500.000.
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